TEHATETIYGH

(Institute of Distance Education)

orret, feedraed (ereiomen) - e
YRy (Assignment )

2021-22

I — faoa: -
AT AW — USSR UTHET —
IA; Fd TAARTITUT AT : —
T ST fafere wafaeeduTaTg: —
A TG
TEATg R T -
TodTg TRl TacdenTaTafaaTg: -
TeATg Rl g AM=R G THYuIfeTg: -
JTEAAT YTETZT: -
@uer Traffarg: YTeATgT
s - ® 20 X 02 = 40 3T
e - @ 05 X 08 = 40 g
grs: - T 02 x 10 = 20 A T:
ToiigT: - 100 TG T: -
TeATg YR WSt UE 31e3q: Fd UAc(Edehan: Po-
TEATE G ETET




3TEAq: Fd UTHI:,

fr sedd: | vwedyyen qfd YSOREH STEdifhdd) Hodrgd  had|
TGS STURU /A KA ¥oRm: uyad/fomgfayafa: sveaq sfa dmen
@A™ GH: Jeaag| AR

0 0000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000sssssssssssssossosssssssese

000 00000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000ssssssssssssssssossssssssee

808000 00000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000

6800000 00000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000

808000 00000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000

000 00000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000ssssssssssssssssssssssssese

000 00000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000ssssssssssssssssssssssssese

000 00000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000sssssssssssssossosssssssese

808000 00000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000

6800000 00000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000

00000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000ssssssssssssssssssssssssese

0 0000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000sssssssssssssossosssssssese

0 00000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000sssssssssssssssssssssssese

808000 0000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000s

808000 0000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000s

800000 00000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000

0 0000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000sssssssssssssossosssssssese

0 000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000sesssessessossossosese

808000 00000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000

808000 00000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000t0s

808000 000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000sotcs

0 0000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000sssssssssssssossosssssssese

000 00000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000ssssssssssssssssssssssssese




et (fgrtaendy) — =rqefosm (erefomem)

Qug —

IGT: - 20 X 02 = 40
o, Trfafea ¥ 9 ol | avat & SwR 2

A. Answer any twenty of the following question.

1. ART $I YA YAy AT BT HRIGTA 9d1sy ?
Write the duration of First five year plan of India ?

2. N R ?
What is P.D.S ?

3. YR TR Bl W HIFTY ?
Clarify the Indain proverty ?

4. IRA B Y IUTGHAT 9GM & 4 IUF Gy ?
Write four measures to improve productivity in agricultural sector of India ?

5. IRATT 3fferawel § HeR e & 4 Hewd adrsy ?
Write four importance of cottage industries in Indian economy ?

6. IRA H 93 amfie T e or] & WY ?

When was New economic policy started in India ?

7. NEIRRERSHIEEINE] W ‘hq Iéﬁa T Y
When was J.R.Y started in India ?

8. gl BT YUl 9™ faRay ?
Write full name of HUDCO ?

o.  offe gy 1 gRwIRE AR ?

Define economic growth ?

10.  9Rd ¥ 99d &R H gig & IR IUR ISy ?

Suggest the four measures to raise the rate of savings in India ?

1. M GIR SAPA & Iga Il Ud 3MTeIdd] DI WL DI ?

Clarify the objectives & needs of land reform programme in India ?

12. Ihel B IR i Bl ST ?

Count the four Benefits of Consalidation ?

13. 9Rd & IR I & 9 faRkgy ?

Name the four imports of India ?

14, ATHIRTS GRETT DT URATNT BIFTY ?

Define social security ?

15.  9RA ¥ M JEHAAISA & IR HROT qAr8Iq ?
State the four reasons causes of economic inequalities in India ?
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16. SRISNTRI & G ISHTR SRR & JfHd 9dasy ?

Write the role of employment exchanges to solve unemployment in India ?

17. IR ¥ W G597 S 4 SR B GIRY ?

Search the four causes of food problem in India ?

18. 13 3irenfire T 1991 & 5 Igedl & forfay ?

Write the four objectives of new industrial policy 1991 ?

19. o URdE BT YAR 9Rd H Hg fbar 771 o ?

When was rail transport started in India ?

20. ©F Hify 5y dea g ?
What is drug policy ?

21. UIgfde ARl 9§ 39 9T JHsd § 2

What do you mean by natural resources ?

22, JdeA H HHIfAT BT Hecd W HIFY ?

Clarify the importance of labour force in production ?

23, 9Rd H ST H A9 9§ B IR HROT faRag ?

Write four causes for rapid growth of population in India ?

24, 9Rd H IRAR FRISH & 9%d 999 & IR U 9d18y 2
Write four measures to make family planning more successful in India ?

25.  3fdfe fo fod wed § 2
What is economic planning ?

s — ¥4
A - 20 X 02 = 40
fo=dl dia 9ol & sax Ry |
Answer any five question.

1, IRA & oY Sugeh ISR AT &1 [eiRe Sy 2

Determine the appropriate employment policy for India ?

2. TRT § TR B SR Bl {187 ?

Count the causes for poverty in India ?

3. IRA H Ufddel I A<e DI G B & Ul BT ool DIFTY 2
Mention the measures to correct adverse balance of payment in India ?

4, TSl 70T 7 <91 & 3Mfdies fder H He@ T diforg ?

Clarify the importance of capital formation in economic development of Country ?

5. ARG IS &1 Ul &7 JeaTdhd iy ?

Evaluate the achievements of India planning ?

6. IRaR e dRied W) gferg el forlRgy ?

Write an short notes on family planning programme ?
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7. YR # $Hdl e & HRON b IRYT HIFTY ?
Explain the causes of high birth rate in India ?
8. TRd # e RAprg & Tae vd sEA & g=r HIfore ?

Desribe the problems & shortcomings of educational development in India ?
Qg — 71
Al - 02 X 10 = 20
TRl a1 uol & ST €l

C. Answer any two Question.

1. IRA H Yol (Hier &1 71591 &R & BRI Bl Wee Sy gd gfg & Iurg gy ?
Clarify the reasons for low rate of capital formation in India & suggest measures to
raise capital formation in India?

2 IRA # Faq SFd Ifg & BRI B Ieold DT | AP A & folg Td=aq
SUTT bl GeIgy ?

Mention the causes of continuous price-raise in India and also suggest the latest
measures to control it ?

3. IRA H IRISHRT & FHRAT & TR {6 T SRR IRl & Frer sifoy ?
Explain the government measures for the solution of unemployment problem in
India ?

4. IRA ¥ gRaGR e & AT &1 HiASAl BT Ioeld dRd gU 39 BIIDH DI
Ahel g9 B ged QIforg ?

Mention the difficulties in the way of family planning in India & also suggest
measures to make this programme more successful ?
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